MATHS

BOOKS - OSWAAL PUBLICATION

SAMPLE PAPER 1

1. If A={1,2},B = {:c:w € N and z° — 9 = O}.Find

A X B

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AkPIrYG3FnmN
https://dl.doubtnut.com/l/_I5s7VPDVqXK0

2. Define subset of a set.

° Watch Video Solution

2
3. Convert = radians into degree measue ?

° Watch Video Solution

5+iy2 |

4. Express in the form = + 7y.

° Watch Video Solution

5.Findnif® 1P;:"Py, = 1:9.


https://dl.doubtnut.com/l/_I5s7VPDVqXK0
https://dl.doubtnut.com/l/_MCBiIcjSJHd6
https://dl.doubtnut.com/l/_o4tcXFYxn3gA
https://dl.doubtnut.com/l/_B6yejnpRgv7P

° Watch Video Solution

6. Find the tenth term of G .P.5,25,125 7

o Watch Video Solution

7. Find the slope of the time passing through the

points (3,-2) and ( -1,4)

° Watch Video Solution

. COS T
8. Evaluate lim [ ] ?
z—0 mw — X

| ° Wiakt~hh \NAAA CAliikian


https://dl.doubtnut.com/l/_B6yejnpRgv7P
https://dl.doubtnut.com/l/_CA5BCOTBDEq9
https://dl.doubtnut.com/l/_alPjRlSC2ukm
https://dl.doubtnut.com/l/_HZVwBtWfuI6N
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9. Write the converse and contrapositive of " if a

number is divisible by 9 then its is divisible by 3"

o Watch Video Solution

10. Write the sample space for the experiment " a coin

is tossed repeatedly three times".

° Watch Video Solution

1. If the universal set

U={1,23,4,56,7,A={1,257,B={34,5,6}


https://dl.doubtnut.com/l/_HZVwBtWfuI6N
https://dl.doubtnut.com/l/_PQKgW5acOq6N
https://dl.doubtnut.com/l/_Dwj71jC8JebM
https://dl.doubtnut.com/l/_mONQkScOoZC9

Verify(AUB)' = A’ N B’

° Watch Video Solution

12.In a class of 35 students,24 like to play cricket,5 like
to play both cricket and football.Find how many

students like to play football?

° Watch Video Solution

3. If A=1{1,23},B{3,4},C = {4,5,6} , find

Ax (BUC)?

° Watch Video Solution



https://dl.doubtnut.com/l/_mONQkScOoZC9
https://dl.doubtnut.com/l/_uKvembRfCo4d
https://dl.doubtnut.com/l/_kSAmxeVGc9Gs

14. A wheel makes 360 revolutions in one minute.
Through how many radians does it turn in one

second?

° Watch Video Solution

15. Find the value of sin 15°

° Watch Video Solution

16. Find the value of x and y,if (z + 2y) + i(2z — 3y)is

the conjugate of 5 + 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_eL4TAxYhxZdl
https://dl.doubtnut.com/l/_2yPkI18Qhu9k
https://dl.doubtnut.com/l/_zWZxJtCOHy6V

17. Solve 7Tz + 1 < 3x + 5 and represent the solution

graphically on the number line.

o Watch Video Solution

18. Find the equation of the line passing through the

points(-1,1) and (2,-4) ?

° Watch Video Solution

19. Write the equation of the line passing through

1
(-4,3) with slope 7


https://dl.doubtnut.com/l/_zWZxJtCOHy6V
https://dl.doubtnut.com/l/_rTYjGO2iMYtx
https://dl.doubtnut.com/l/_btv6cgLCGO7e
https://dl.doubtnut.com/l/_Bb9UAvsr8r08

° Watch Video Solution

20. Find the Ratio in which yz plane divides the line

segment joining the points (4,8,10) and (6, 10,-8) ?

° Watch Video Solution

. 1 —cosx
21. Evaluate lim _ )7
z—0 I

° Watch Video Solution

22. Write the component statement of the following

compound statement and check whether the given


https://dl.doubtnut.com/l/_Bb9UAvsr8r08
https://dl.doubtnut.com/l/_nHqTlVgToO7X
https://dl.doubtnut.com/l/_BMhJRExR7wC6
https://dl.doubtnut.com/l/_eiUZWDstmBlX

compound statement is true or false "0 is less than

every positive integer and every negative integer.

° Watch Video Solution

23. If the coefficient of variation and standard
deviation are 60 and 21 respectively, the arithmetic

mean of distribution is

° Watch Video Solution

24. One card is drawn from a well-shuffled deck of 52
cards.Calculate the probability that the card will be

"not an ace".


https://dl.doubtnut.com/l/_eiUZWDstmBlX
https://dl.doubtnut.com/l/_c6ST8Zzek4Nx
https://dl.doubtnut.com/l/_jQyJvOSQkIBq

° Watch Video Solution

25. Let A={1,2,3...14}. Define a relation R from A to A by
R ={(z,y):3z —y =0, where z,yc A}. Write

down its domain, condomain and range.

° Watch Video Solution

26.Solve 2cos’z + 3sinz = 0

° Watch Video Solution

27. Express 4/3 + i in polar form ?


https://dl.doubtnut.com/l/_jQyJvOSQkIBq
https://dl.doubtnut.com/l/_2r3Anh8RsPeP
https://dl.doubtnut.com/l/_SjESrtxDLn7R
https://dl.doubtnut.com/l/_i88w0y3T23qW

° Watch Video Solution

28. Solve:

20
3m2—4w+?:0

o Watch Video Solution

29. How many numbers greater than 10,00,000 can be

formed by using the digits 1,2,0,2,4,2,4.

° Watch Video Solution



https://dl.doubtnut.com/l/_i88w0y3T23qW
https://dl.doubtnut.com/l/_RE7psoxoD2U3
https://dl.doubtnut.com/l/_F1S4wV5w7kLC

30. Using Binomial Theorem, indicate which number is

larger (1.1)'% or 1000.

° Watch Video Solution

31.1n an AP if m” term is n and n* term is m, where

m # n, find the p!* term .

° Watch Video Solution

32.Find the sum to n terms of the AP, whose k' term

is 5k + 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_IgaApUTF6he2
https://dl.doubtnut.com/l/_EPPBuYkHOQbt
https://dl.doubtnut.com/l/_RqjSqEsAuN2R

33. Find the co-ordinates of the foci and latus rectum

of the hyperbola3z? — y* = 3.

o Watch Video Solution

34. Differentiate of sin x w.r.t. x from first principles

o Watch Video Solution

35. Given p : 25 is multiple of 5
g:25is a multiple of 8

Write the compound statements connecting these


https://dl.doubtnut.com/l/_RqjSqEsAuN2R
https://dl.doubtnut.com/l/_X9sbm6zt3oKy
https://dl.doubtnut.com/l/_Vgsit1eZg9hs
https://dl.doubtnut.com/l/_dFUxfcf7X5JZ

two statements with 'and' and 'or'. In both the cases

check validity of the compound statement.

° Watch Video Solution

36. Two students Anil and Ashima appeared in an
examination . The probability that Anil will quanlify the
examination is 0.05 and that Ashima will qualify the
examination is 0.10 . The probability hat both will
qualify the examination is 0.02 . Find the Probabiity
that both Anil and Ashima will not qualify the

examination ?

° Watch Video Solution



https://dl.doubtnut.com/l/_dFUxfcf7X5JZ
https://dl.doubtnut.com/l/_wdLvHlhxcnjY
https://dl.doubtnut.com/l/_1l6bC4rscdZ7

37. A letter is chosen at random from the word
"ASSASSINATION" . Find the probability that letter is

vowel.

° Watch Video Solution

38. A letter is chosen at random from the word
'ASSASSINATION' Find the probability that latter is a

vowel (ii) a consonant

° Watch Video Solution



https://dl.doubtnut.com/l/_1l6bC4rscdZ7
https://dl.doubtnut.com/l/_4hYepoOuPUUV

39. In a survey of 600 students in a school, 150
students were found to be taking tea and 225 taking
coffee, 100 were taking both tea and coffee. Find how

many students were taking neither tea nor coffee?

o Watch Video Solution

40. If the function from f:R — R is defined as
f(z) = z*then draw the graph of f and find the

domain and range.

o Watch Video Solution



https://dl.doubtnut.com/l/_1xLmN0E8DEq4
https://dl.doubtnut.com/l/_mZDKEiWK0EZu

sinbxr — 2sin3x + sinx
41. Prove that : = tanx
CcCos bhxr — cosx

° Watch Video Solution

42, Prove by mathematical induction
n(n + 1)
1+2+3+...... +n 5

° Watch Video Solution

43, Solve graphically

2z +y>4,e+y<32x—-3y<6bzx>0,y=>0

° Watch Video Solution



https://dl.doubtnut.com/l/_WpJDEE3MESfa
https://dl.doubtnut.com/l/_AAiRx23MYDe2
https://dl.doubtnut.com/l/_xW0ILMLkKBmc

44. A group consists of 4 girls and 7 boys .In how
many ways can a team of 5 members be selected , if
the term has (i) no girls (ii) atleast one boy and one

girl ?

° Watch Video Solution

45. A group consists of 4 girls and 7 boys. In how ways
can a team of 5 members be selected, if he team has.

At least one boy and one girl?

o Watch Video Solution



https://dl.doubtnut.com/l/_IPf7RQUOUind
https://dl.doubtnut.com/l/_nr1uDraGs3YF

46. A group consists of 4 girls and 7 boys. In how many
ways can a team of 5 members be selected, if the team
has.

At least three girls?

o Watch Video Solution

47. State and prove Binomial theorem for a positive

integer index.

o Watch Video Solution



https://dl.doubtnut.com/l/_o4YYkYmPgeKS
https://dl.doubtnut.com/l/_OlOlMWSLNsef

48. Derive a formula for the angle between two lines

with slopes m; and ms,. Hence the slopes of the lines
s

which make an angle 1

with the linexz — 2y +5 =10

° Watch Video Solution

49. Derive the formula for the distance between two
points(x1, y1, z1) and (2, Y2, 22).And hence find the

distance between (2,-1,3) and (-2,1,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_A5UlwJ8BIkJ0
https://dl.doubtnut.com/l/_IknjsJQpUXOt

50. Prove that lim
60—0 0

and hence show that lim

sin @

60—0

tan @ B

17?

=1, (0 being in radians)

° Watch Video Solution

51. Find the mean deviation about the mean for the

following data.

Find the mean deviation about the mea

m EOF EE TOIWITT, s

10-20

w30 | 3040 | 40-50

Bl-71

Marks Obtained
Number of Students

> T e [ u

?D—I&J-
2

° Watch Video Solution



https://dl.doubtnut.com/l/_6elrtgNc7w6N
https://dl.doubtnut.com/l/_zbLsgoyYpfms

52. Prove Geometrically
cos(x +y) = cosx, cosy — sinz. siny and hence
prove that cos(z — y) = cos x cos y + sin z sin yusing

unit circle concept ?

o Watch Video Solution

53. (b)Find the sum of first n terns of the series

° Watch Video Solution



https://dl.doubtnut.com/l/_oefvbUZGYZou
https://dl.doubtnut.com/l/_MREQgqWbXBrn

54. Derive the equation of the ellipse in the form

m2 y2
§+b—2=1.

° Watch Video Solution

2 — COS T

55.Find the derivative of - with respect to x
sinx

° Watch Video Solution



https://dl.doubtnut.com/l/_CRWmUyqAnfjQ
https://dl.doubtnut.com/l/_A6JfUcc3Lh0e

